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• There is a lot of money.
• It is in a pile.
• It is in bundles.

• Is it all the same 
denomination?

• How much does one bill 
weigh?

• How much does all the 
money weigh?

How much money was that? 1



• There is a lot of money.
• It is in a pile.
• It is in bundles.

• Is it all the same 
denomination?

• How many rows and 
columns are there?

• How many bills are in one 
stack?

How much money was that? 1







Main pile of money

Small pile of money

34 rows across

17 rows across

11 rows deep

1 row deep
8 bundles

high

10 bundles

Main pile: 34 rows x 11 rows x 10 bundles = 3,740 bundles 

Small pile (left): 17 rows x 1 row x 7 bundles = 119 bundles 

17 rows across

7 bundles
high

Small pile (right): 17 rows x 1 row x 6 bundles = 102 bundles 

Total bundles: 3,740 + 119 + 102 = 3,961 bundles

Total money: 3,961 bundles x $50,000 per bundle = $198,050,000

high Main pile of money

Small pile of money

34 rows across

17 rows across

11 rows deep

1 row deep
8 bundles

high

10 bundles

17 rows across

7 bundles
high

high
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